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change in the direction normal to the paper. Cal-

T 869  The results of a wind tunnel test to de- c_ulate the drag force (reaction force in x direc-
termine the drag on a body (see Fig. P5.69) are tion) exerted on the air by the body per unit
summarized below. The upstream [section (1)] length normal to the plane of the sketch.
velocity is uniform at 100 ft/s. The static pressures Vo = 100 ft/s
are given by p, = p, = 14.7 psia. The downstream - A
velocity distribution which is symmetrical about 1[=__1,0.21U3 —— .
the centerline is given by e i :f:_‘l -
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where u is the velocity in ft/s and y is the distance SHetin el ? Do F el )
on either side of the centerline in feet (see Fig. e Control volume il
P5.69). Assume that the body shape does not FIGURE P5. 69 SRR,

The contral volume cam‘wh;}yj air only as Shown in the @ure is used.
Application of +he X divection component of Tthe Ilwear momentunn
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To defermine the distane 1% the conservation of mass eguatioy, s
Agplied between sections (1) and(2)-as follows
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R o= 17116 per £t of length normal to the plane of the sketch
x T — :
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